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2008-09 District Competition

Match #20 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
The PSA test is used to detect cancer of it, which is the most common type of cancer in men.  It makes and stores seminal fluid and surrounds the urethra.  Name this exocrine gland of the male reproductive system.

ANSWER:
prostate
2.
His wife, Mary Morstan, died before the time of ‘The Adventure of the Empty House.’ He was wounded while serving as a doctor in Afghanistan. What resident of 221B Baker Street was the roommate and companion of Sherlock Holmes?  

ANSWER: (Dr) John H. Watson, M.D.

3.
Dave Krieg replaced him in 1983, resulting in his team’s first-ever playoff appearance. He was the AFC’s Offensive Rookie of the year in 1976, perhaps due to his passes to Shane Largent. On February 9, what Seahawks quarterbacks coach became the head coach of the Redskins? 


ANSWER: Jim Zorn
4.
The International Standards Organization has grouped these into Group 0, 0+, 1, 2, and 3 based on the size and age of the occupant. They are rear-facing until the occupant is twenty pounds and a year old. What are these devices designed to protect babies? 

ANSWER: carseat(s) or infant safety seat(s)

5.
The town of Alexandria, Minnesota banned this book in 1921. Its protagonist leaves her doctor husband and goes to Washington, D.C., but returns home. Carol Milford marries Will Kennicott and lives in Gopher Prairie, Minnesota, in what novel by Sinclair Lewis?

ANSWER: Main Street
6.
His father, Talal, was schizophrenic and abdicated in 1952. In September 1970, he put down a rebellion by refugees from Palestine. He signed a peace treaty with Israel in 1994. Until his 1999 death, who was the King of Jordan?

ANSWER: King Hussein ibn Talal

7.
It can be caused by radiation, diabetes, or old age.  Although it can be removed by surgeries called ECCE or ICCE, it is the world’s leading cause of blindness.  Name this eye problem that is a clouding of the lens.

ANSWER:
cataract
8.
Early myths called her Boopis, or ‘cow-eyed,’ while later myth associated her with the many-eyed peacock. This Greek goddess took away Echo’s power of speech. Her children included Eileithyia, Hebe, Eris, Ares, and Hephaestus. Who is this wife of Zeus? 

ANSWER: Hera (accept Juno before ‘Greek’ is said)
9.
Named by Wilhelm Kuhne, Eduard Buchner used one to achieve cell-free fermentation.  They typically end in ase and their workings are described by the lock and key model and the induced fit model.  Name this term for a biological protein catalyst.

ANSWER:
enzyme(s)

10.
He had a two-year affair with the alcoholic Rita and married Charlotte so he could have a stepdaughter. After his first girlfriend, Annabel Leigh, died of typhus, he had a great deal of interest in ‘nymphets.’ Who loved the much-younger Delores Haze in Lolita? 

ANSWER: (Professor) Humbert Humbert
11.
Amneris, the daughter of Pharaoh, weeps during this opera’s final scene, as the title character joins Radames in being buried alive. What opera by Giuseppe Verdi was not written to celebrate the opening of the Suez Canal? 

ANSWER: Aida
12.
THIS IS A 10-SECOND COMPUTATION QUESTION. What is the median of the fractions 13/125, 32/125, 11/25, and 3/5? 


ANSWER: 87/250
13.
Discovered by William Gregor in 1791, it is extracted from ores by the Kroll or Hunter processes.  A transition metal with a melting point of 3000 degrees F, its average atomic mass is 47.867.  Name this element with atomic number 22 and symbol Ti.

ANSWER:
titanium
14.
This four-letter word comes to us from an Old English word meaning ‘shoulder’ or ‘cross-beam.’ On bicycles, they are sometimes called ‘spindles.’ What word refers to the shaft that holds a pair of wheels together? 

ANSWER: axle
15.
At this battle, Anthony McAuliffe replied ‘Nuts,’ when asked to surrender the 101st Airborne. It was fought between December 16, 1944, and January 25, 1945. What was the last German offensive on the Western Front? 

ANSWER: Battle of the Bulge or Ardennes Offensive

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  The simple interest on a loan was $840.  The time of the loan was 6 years and the amount of the loan was $2000.  What was the interest rate?


ANSWER:  7%
1B.
Simon LeBon is the lead singer of what 1980s band whose songs include ‘Hungry Like the Wolf?’


ANSWER: Duran Duran
2A.
From the Latin for tailor, what muscle in the leg is the longest muscle in the body?

ANSWER:
sartorius
2B.
What word comes from the Greek words for ‘beautiful’ and ‘writing’? 


ANSWER: calligraphy
3A.
What river, technically a tidal strait, separates Bronx and Manhattan from Long Island?


ANSWER: East River

3B.
What red supergiant is in Scorpius and was thought in ancient times to be a rival of Mars? 

ANSWER:
Antares
4A.
In Moby Dick, what South Pacific harpooner shares a bed with Ishmael at the start of the story?


ANSWER: Queequeg
4B.
In what state was the Golden Spike ceremony on May 10, 1869? 


ANSWER: Utah
5A.
Name any three of Britney Spears’ five studio albums.


ANSWER: … Baby One More Time, Oops! … I Did It Again, Britney, In the Zone, and Blackout
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Ryan gets a salary and he also gets 5% commission on all his sales.  One week he had sales of $12,000 and his pay for both salary and commission was $1000.  What is his weekly salary?


ANSWER:  $400
6A.
What are the English language’s four demonstrative adjectives?


ANSWER: this, that, these, and those
6B.
The part of a mortgage payment that pays property tax and hazard insurance is held in what type of third-party account?


ANSWER: escrow

7A.
The Meiji Restoration of 1868 marked the end of what dynasty of shoguns?


ANSWER: Tokugawa
7B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Solve this equation over the interval from zero to two hundred degrees and give your answer in degrees: Two cosine squared of theta plus cosine of theta minus 1 equals zero.  


ANSWER:  60o and 180o
8A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Consider the geometric sequence whose terms are defined by:  An = (100)(1/4)n-1 . (Read as: A sub n equals one hundred times one-fourth to the n minus one power.)   Now, find the sum of the first three terms. 


ANSWER: 131 ¼ 

8B.
Madame Tussaud (too-SOH) was a master of sculpture in what medium?


ANSWER: wax
9A.
THIS IS A 10-SECOND COMPUTATION QUESTION. You have an electric circuit with a 120 volt source, and two resistors, one of 20 ohms and one of 40 ohms. What is the current through the 20-ohm resistor? 

ANSWER:
2 amperes

9B.
Herbert Akroyd-Stuart actually made an earlier version of his most famous creation.  Name this inventor of a namesake engine that does not use spark plugs.

ANSWER:
Rudolf Diesel
10A.
Two narrators, one hedonistic, the other ethical, appear in what work by Soren Kierkegaard? 

ANSWER: Either/Or
10B.
What Ape spreads the heresy that Tash and Aslan are one and the same in The Last Battle? 

ANSWER: Shift
Third period, 15 toss-ups, 10 points each

1.
Her poetry collections include Double Persephone. Her novels include The Robber Bride and The Blind Assassin. What Canadian created the character of Offred and the Republic of Gilead in A Handmaid’s Tale? 

ANSWER: Margaret Atwood
2.
He married Germaine de Foix in 1505 after the death of his more famous wife. His daughter, Joanna the Mad, had a son that became Charles V. Also the king of Sicily, Naples, Sardinia, and Navarre, who was the husband of Castile’s queen, Isabella? 

ANSWER: Ferdinand of Aragon or Ferdinand II
3.
His batterymate for many years was Chief Zimmer. He won three games as he led the Cleveland Spiders to victory in the 1895 Temple Cup over the Baltimore Orioles. He pitched the first perfect game of the 20th century in 1904. He got his nickname from a teammate in reference to the speed of his fastball. Who won a record 511 games and is the namesake to an annual award given to each league’s best pitcher? 

ANSWER: Denton ‘Cy’ Young
4.
First observed in Manchester in 1852, it is a major problem in Eastern Europe and China.  It is primarily caused by human pollution involving nitrogen or sulfur.  Name this environmental menace that is chemically reacted water with a low pH.

ANSWER:
acid rain or acid precipitation
5.
This phrase preceded ‘that my four little children,’ ‘this nation will rise up,’ and ‘that one day on the red hills of Georgia.’ What four words were spoken from the steps of the Lincoln Memorial on August 28, 1963, in a speech by Martin Luther King? 

ANSWER: ‘I have a dream’

6.
This lyricist to the musical Drat! The Cat was first published in the 1950s with the play No Time for Sergeants and A Kiss Before Dying. November 2007 saw the death of what author of The Boys from Brazil, The Stepford Wives, and Rosemary’s Baby? 

ANSWER: Ira Levin
7.
This colony’s founder was originally given the Province of Avalon in Newfoundland. What colony located further south was founded as a haven for Roman Catholics by members of the Calvert family, and was the property of the Lords Baltimore? 

ANSWER: Maryland
8.
They are the topic of the 72nd sura of the Qur’an, where they renounce their earlier polytheism. Types of these beings made from ‘smokeless fire’ include marid and ifreet. What are these beings that, being massless, can spread over the Universe or fit in a lamp?

ANSWER: genie(s) or jinn(i)

9.
She portrayed a singing maid in the 1947 movie New Orleans. She died a year after recording the 1958 album Lady in Satin. Her 1956 autobiography was Lady Sings the Blues. What jazz singer sang about lynching in ‘Strange Fruit’?


ANSWER: Billie Holliday
10.
Developed in 1908 by Ernest Rutherford and its namesake, it was improved in 1928 by Walther Muller.  It uses a gas-filled tube and outputs with a needle or with clicks.  Name this instrument used to detect amounts of radiation.

ANSWER:
Geiger counter

11.
What letter is the ending of second declension Latin nouns in the dative and ablative cases, and is the most common ending for Spanish nouns whose gender is masculine?

ANSWER: o
12.
This island contains 26 prefectures and is the world’s seventh largest island, by land area, and the world’s second most populous, after Java. The Nobi and Kanto Plains are on what island, the largest, by land area, in Japan? 

ANSWER: Honshu 

13.
Built by Philip Augustus around 1200, it was opened to the public in August 1793. It added an I.M. Pei-designed pyramid in 1989. The Winged Victory of Samothrace, the Venus de Milo and the Mona Lisa are all in what museum in Paris?  

ANSWER: Louvre Museum

14.
THIS IS A 10-SECOND COMPUTATION QUESTION.  A scalene triangle has legs of 8 inches and 6 inches.  If the third leg is also an even integer, then how many possible triangles exist?


ANSWER:  3 (The third side could be 4, 10, or 12) 

15.
Its reciprocal is either measured in siemens or its palindrome.  It is equal to volts over amperes.  Name this SI unit of electrical impedance or resistance named for the German physicist Georg and often represented by the Greek letter omega. 

ANSWER:
ohm
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Due to its complexity, this writing system eventually became the hieratic and the demotic. Theodosius I banned it in 396 AD due to its pagan origins. The discovery of the Rosetta Stone helped advance the deciphering of what ancient Egyptian writing system? 

ANSWER: (Egyptian) hieroglyphics 

2.
This program was developed in 1987 for the Macintosh by Forethought and was called Presenter. It was released for Windows in 1990. Later versions included the ability to animate individual shapes. What is the Microsoft Office program for presentations? 

ANSWER: Microsoft PowerPoint
3.
Most of this law was upheld in McConnell v. FEC but portions were struck down in FEC v. Wisconsin Right to Life. The Bipartisan Campaign Reform Act of 2002 is named after what two Senators, one a Wisconsin Democrat, the other an Arizona Republican? 


ANSWER: McCain-Feingold or Feingold-McCain (accept Bipartisan Campaign Reform Act before it is said)

4.
The symbol for this concept is called the lemniscate, and is the sum of a divergent series. In real analysis symbolizes an unbounded limit. A symbol resembling a sideways ‘8’ represents what mathematical concept at the theoretical ends of the number line? 


ANSWER: infinity
5.
In Treatise on the Demonstration of Problems of Algebra, he showed how to solve cubic equations. His poetry was translated by Edward Fitzgerald; in the West, he is best known for his quatrains. The Rubaiyat is the most famous work of what medieval Persian poet? 

ANSWER: Omar Khayyam
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